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These questions are for use in the Virginia High School League’s Scholastic Bowl State Championships. Shawn Pickrell, Marian Suter, Adam Fine, Chris Moretti, Susan Gallaher, Ross Irwin, Jason Mueller and Fred Morlan are the authors of these questions. Pickrell, Fine and Suter edited the questions, with the assistance of John Harris, Don Remnant and Samer Ismail.

The following condition must be known by all coaches, competitors and spectators of the competition:

These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 tossups, worth 10 points

1.  THIS IS A COMPUTATION QUESTION. The hydroxide ion concentration in an aqueous solution equals 1 x 10 to the negative 8 moles per liter. What must be the concentration of hydrogen ions?

ANSWER: 1 x 10 to the negative 6
2.  Early in his career, he worked with Lord Rutherford in studying the concept of modern atomic theory. Perhaps his greatest contribution to science was his extended theory of atomic structure when he explained the spectrum of hydrogen by means of an atomic model and the quantum theory. Who is this Danish physicist?

ANSWER: Niels (Henrik David) Bohr
3.  He wrote the scripts for the films You Only Live Twice and Chitty Chitty Bang Bang but he is perhaps better known for his children's books James and the Giant Peach and Charlie and the Chocolate Factory. Name this British author.

ANSWER: Roald (not Ronald) Dahl
4.  "You can tell my arms, go back into the farm! / You can tell my feet to hit the floor. / You can tell my lips to tell my fingertips, / They won't be reaching out to you no more."  These are the lines just before the first chorus to what former #1 song by mullet wearing one-hit wonder Billy Ray Cyrus?

ANSWER: "Achy Breaky Heart"
5.  Naroda [nah-ROH-dah] Mountain is the highest mountain in this range. The islands of Novaya [noh-VAH-yah] Zemlya [ZEM-lyuh] are a northern extension of it. What are these mountains that are the border between Europe and Asia?

ANSWER: Ural Mountains

6.  Captain Ernst Lindemann died in the morning of May 27, 1941, while engaging the HMS King George V and HMS Rodney. Lindemann was the captain of -- what German ship that had a few days earlier sunk the HMS Hood and was the subject of a famous movie and song about the mission to sink it?

ANSWER: Bismarck
7.  This hairstyle was first seen in the twentieth century on the day before D-Day, when members of the 115th regiment attempted to make themselves look fiercer. It is actually misnamed, because it was the Hurons who first patterned it after the bristle on a boar's head. Actor Mr. T is associated with what hair style, where the sides are shaved, leaving a line of hair up the middle?

ANSWER: mohawk
8.  What is the term for a finite sequence of elements where the only element that can be removed from the sequence is the most recently inserted element, using the principle of "Last In, First Out?"

ANSWER: stack
9.  In math, it refers to the set of points surrounding a specified point, each of which is within a usually small certain distance from the specified point.  Informally, it means an approximate amount or range. What is this word that also refers to the area where Mr. Rogers lived and worked?

ANSWER: neighborhood
10.  The recapture of this ship was the inspiration for the phrase in the Marine Corps Hymn about "the shores of Tripoli." On February 16, 1804, Stephen Decatur led a boarding party to capture this ship from the Barbary Pirates and sink it, a mission that succeeded. What was this ship, named for an American city?

ANSWER: USS Philadelphia
11.
Along with CSX, this company owns the stock of Conrail, the major freight railroad of the Northeast. A train wreck in South Carolina impacted the bottom line of -- what railroad operator whose name includes the Tidewater city of its headquarters?

ANSWER: Norfolk Southern (prompt on Southern, do not accept Norfolk)

12.  He is known for his imaginative science-fiction works that blend social criticism with awareness of the hazards of technology run amok. Name this author of Dark Carnival, The Golden Apples of the Sun, Something Wicked This Way Comes and Fahrenheit 451.

ANSWER: Ray Bradbury
13.  Rush Limbaugh coined the term, and describes one as "seeing to it that as many abortions as possible are performed." What is this pejorative Limbaugh uses to describe overly strident (in his view) women's rights activists?

ANSWER: “feminazi”
14.  THIS IS A COMPUTATION QUESTION. What is the average value of y equals x-squared over the closed (inclusive) interval from negative two to two { [-2, 2] } ?

ANSWER: 4/3
15.
At the end of glycolysis, the first phase of cellular respiration, glucose is broken down into two molecules of what compound with formula CH3COCO2H?

ANSWER: pyruvic acid (accept pyruvate)

Second period, 10 directed questions per team, worth 10 points

Questions with an “A” after their number will be read to the team that selects set A of questions; questions with a “B” after their number will be read to the team that selects set B of questions.

1A.
California Republican Bill Thomas is the chairman of -- what powerful House Committee that handles budget bills?

ANSWER: U.S. House Committee on Ways and Means
1B.
In some types of transport, cells do not expend energy to get materials in or out. What type of transport does require the cell to use energy?

ANSWER: active transport

2A.
What king ruled Thailand from 1851 to 1868 and was featured in the memoir Anna and the King of Siam?

ANSWER: Mongkut [mong-KOOT] or Rama IV
2B.
What city in Japan is home to the famous "Snow Festival" and was the site of the first Winter Olympics in Asia?

ANSWER: Sapporo, Japan

3A.
What is the range of values that a parabola can have for its eccentricity?

ANSWER: it is always 1 (accept equivalents)

3B. THIS IS A COMPUTATION QUESTION. What two binomials are the factors of the trinomial 6x2 + x – 12 [six x squared plus x minus 12]?

ANSWER: 2x + 3 and 3x - 4
4A.
John Bardeen, Leon Cooper, and John Schrieffer explained what type of low-temperature phenomenon?

ANSWER: superconductivity (accept word forms)

4B.
Mary Kay Letourneau's (lih-tour-NOH) father was -- what third-place finisher, from the American Independent Party, in the 1972 Presidential election?

ANSWER: John G. Schmitz
5A.
In which Robert Heinlein novel does “Martian” Valentine Michael Smith “grok” earthlings?

ANSWER: Stranger in a Strange Land
5B.
In Milton's Paradise Lost, what city was built as the capital of Hell?

ANSWER: Pandemonium
6A.
How many prepositions are in the following sentence? I wanted to go to the store across the street to buy some of their special candies.

ANSWER: three (I wanted to go (to) the store (across) the street to buy some (of) their special candies. The other to's are infinitive or verb markers.)

6B.
Currently, what is the maximum amount a person can contribute to a Roth IRA without penalty in any one year?

ANSWER: $3,000
7A.
In the Episcopal Church, a rector is in charge of a parish. What term is given to the priest in charge of a mission, which is a congregation supported by its diocese?

ANSWER: vicar
7B.
Which International Style architect, who worked with Mies van der Rohe (meez van der ROH-hee) to design the Glass House, the AT&T Building in New York, and the Seagram Building, passed away in January 2005 at age 98?

ANSWER:  Philip Johnson
8A.
Which screenwriter of the film Mean Girls is also the head writer and primary "Weekend Update" anchor on Saturday Night Live?

ANSWER: Tina Fey
8B.
What is the singular accusative form of the Latin noun “rex?”

ANSWER: regem [reh-JEM or reh-GHEM]

9A.
What process or object causes valleys to have a U-shape, as opposed to a flat-floor or a V-shape?

ANSWER: glaciers or glaciation
9B. 
THIS IS A COMPUTATION QUESTION. This problem requires both calculation and knowledge of American history.  What is the sum of the year in which the Declaration of Independence was signed and the year George Herbert Walker Bush was elected, divided by the number of terms in office Franklin Roosevelt was elected to?

ANSWER: 941 ((1776 + 1988) / 4)

10A.
THIS IS A COMPUTATION QUESTION. What is the area of an ellipse with a major axis of 10 and a minor axis of 6?

ANSWER: 15PI (the formula is simply, (semimajor axis) * (semiminor axis) * PI, and the semiminor/semimajor axis are one-half their parent.)

10B.
What is the heaviest noble gas, by atomic mass, that has at least one non-radioactive isotope?

ANSWER: xenon
Third period, 15 toss-ups, worth 10 points
1. 
This six-letter word is generally used to describe any condition that is not life-threatening, especially a tumor. What is this word that describes a tumor that is not malignant?

ANSWER: benign
2.  At 17, he saw the French gunpowder works at Essonne (ess-SOHN), an experience he remembered when he established his own works in 1801, on the Brandywine River near Wilmington, Delaware. Who is this gunpowder baron whose company still exists as a major chemical manufacturer?

ANSWER: E.I. DuPont de Nemours [neh-MORE]

3.  The Romans held a festival to this goddess on January 3.  She is associated with a scepter, a cornucopia, and an olive branch, while she had a sanctuary on the Campus Martius.  The equivalent of the Greek goddess Irene was what Roman goddess of peace, also the Latin word for peace?

ANSWER: Pax
4.  Aleksandr Borodin wrote two of these for his "Petite Piano Suite," while Ravel wrote one for his "La Parade".  Swedish folk music has an equivalent called the polska, fitting because it originated in Poland, and the Polish national anthem is one of these dances.  Identify this form of music, a folk dance in triple time with medium tempo, of which Frederic Chopin composed over 50 examples.

ANSWER: mazurka  

5.  Her books of verse include Enough Rope, Sunset Gun and Death and Taxes. Who is this American short-story writer and poet who, with Robert Benchley and Robert Sherwood, formed the nucleus of the Algonquin Round Table, an informal luncheon club held at that New York City hotel?

ANSWER:  Dorothy Parker
6.  Built in 1852, it housed male and female prisoners until 1933, when the women's prison of Tehachapi was built. Metallica's video "St. Anger" was filmed there and Johnny Cash had a famous performance there. What is this prison, the home of California's gas chamber and the future home of Scott Peterson?

ANSWER: San Quentin State Prison

7.  "Here lies one whose name was writ in water" is the epitaph carved upon the gravestone of what English Romantic poet who died at age 25 and penned such works as "Endymion", "The Eve of St. Agnes," and "On First Looking into Chapman's Homer"?

ANSWER: John Keats
8.  In Hindu theology, the entire universe is a result of Brahman the creator making this sound. When written in the Devanagari [deh-vah-nah-GAH-ree] script, it is the representative symbol of Hinduism. What is this syllable that begins most Hindu mantras and is often associated with meditation?

ANSWER: Aum or Om
9.  It can mean hard salt beef for consumption on board a ship; a Chinese flat bottom ship with a high stern and full-battened sails; or cheap or shoddy material. What is this four-letter word?

ANSWER: junk
10. Its official name is Comprehensive Environmental Response, Compensation and Liability Act, and Congress authorized it in 1980 in response to the Love Canal disaster. What is this law, administered by the EPA, that taxes petrochemical industries and uses the proceeds to clean up hazardous waste sites?

ANSWER: Superfund
11.
The Classical version of this art form uses a Luopan [loo-aw-pan] compass and several detailed steps to lay out tombs, monuments and cities. New Age schools of this art, such as Black Hat and Pyramid, explain it as the correct placement of objects, especially in a home, to ensure the proper flow of qi [CHEE]. What is this Chinese art form most associated in the West with interior decorators? 

ANSWER: feng shui [fung SHOO-way]

12.  He was originally a member of the Inner Party, but left to write a book called The Theory and Practice of Oligarchical Collectivism. He is the apparent founder of a group called the "Brotherhood" which seeks to overthrow Big Brother. Who is this object of the "Two Minute Hate" in Orwell's 1984?

ANSWER: Emmanuel Goldstein
13.  THIS IS A COMPUTATION QUESTION. A is a 2-by-2 matrix with top row 5, -7 [five, comma, negative seven] and bottom row 3, 8, [three, comma, eight], both read left to right. What is the determinant of A?

ANSWER: 61 (x1y1 * x2y2) - (x2y1 * x1y2) --> (5 * 8) - (-7 * 3) --> 40 - (-21) --> 61)

14.  She came to power in 1843 at the age of three, and her reign was a succession of intrigues and rebellions before she was forced to abdicate in 1870. Who is this Spanish queen who appeared in the movie Amistad and shared her name with a predecessor who commissioned Columbus' voyage?

ANSWER: Isabella II or Isabel II

15.
In the theory of super symmetry, the bosonic partners to fermions are named by adding what letter of the alphabet to the start of the particles' names?

ANSWER: s
Spare questions 
Try to replace the question discarded with the spare question in a subject area – i.e. science for science, social studies for social studies, etc.) Be sure to mark off the questions as they are used.
1.  Before being elected to Congress in 1994, he was a businessman in Winston-Salem. After 10 years in the House, what man defeated Democrat Erskine Bowles in 2004 to win the U.S. Senate seat that was vacated by John Edwards? 

ANSWER: Richard Burr
2. THIS IS A COMPUTATION QUESTION. Points (2, 5) and (-4,  -3) are endpoints of a diameter of a circle.  What is the equation of the circle, in standard h-k (pronounce each letter separately) form, remembering that the center of the circle is the midpoint of the diameter?

ANSWER: (x+1)2 + (y-1)2 = 25 (the midpoint is (-1, 1) -- that's the center. the distance between those points is 10, or a radius of 5.)

3.  His first published piece, "Under the Moons of Mars," was published in the adventure magazine All-Story in 1911. He wrote twenty-five books about the son of an English nobleman, Lord Greystoke, abandoned in the African jungle during infancy and brought up by apes. Who is this creator of Tarzan?

ANSWER:  Edgar Rice Burroughs
4.  In the cognatic version of this system, the oldest surviving child of either gender inherits a parent's wealth and titles. In the agnatic version, it is the oldest son; if there is no son, it is the oldest daughter. What is this system where inheritance goes to the first-born?

ANSWER: primogeniture
5. 
An example of this type of symbiosis is a remora clinging to a shark. The remora gets leftover food, and the shark is unaffected. What is this type of symbiosis where two organisms live in close proximity, one is neither hurt nor helped and the other is helped?

ANSWER: commensalism
All questions ©2005 by the question writers. Unauthorized use, as described on the first page of this document, is prohibited.

